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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)
ADDITION AND SUBTRACTION

Name:

Time:

Score:

1) Simplify algebraic expression
9 + Tx — 20 — 4o =

Solve for x = 1

a)
b) Solve for x = 2

¢) Solve for z =0
)

Simplify algebraic expression
6x + 0z —x — 3z =

Solve for x =4

a)
b) Solve for x =3

¢) Solve for x = 2
)

Simplify algebraic expression
8r —bx + 10x — 7Tx =

Solve for x = 1

a)
b) Solve for x = 2

¢) Solve for x =3
)

Simplify algebraic expression
6z + 4x + Oz — 6z =

a) Solve for x =5

b) Solve for x =0

c¢) Solve for x =4
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)
ADDITION AND SUBTRACTION WITH BRACKETS

Name:

Time:

Score:

5) Simplify algebraic expression
(10+42) -7+ (8—1)—5=

Solve for x = 2

a)
b) Solve for x =1

¢) Solve for x =3
)

Simplify algebraic expression
(8—2+4+8x)—(3—1+44x) =

Solve for x = 4

)
b) Solve for x =0

c¢) Solve for x = 2

7) Simplify algebraic expression

(22 + 6+ 6z + Tx — 4x) — 6x =

Solve for x = 2

)
b) Solve for x =0

¢) Solve for z =1
)

Simplify algebraic expression
(10 —2+8)—(6—34+3) =

a) Solve for z =0

b) Solve for x = 1

¢) Solve for x = 2
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

ADDITION AND SUBTRACTION WITH BRACKETS II
Time:

Score:

9) Simplify algebraic expression
6z + 8x — 9x + ((dy — Oy) + 10y) =

Solve forx =0,y =1

)
b) Solveforx =1,y =1
¢) Solveforx =3,y =0

10) Simplify algebraic expression
(br —x)+dy+4y +x —0z) =

Solve forx =2,y =10

)
b) Solve forz =4,y =0

¢) Solve forx =0,y =1

11) Simplify algebraic expression
(92 — 8z + 2x) + 6y) + 9y — Yy =

Solve forz =0,y =3

)
b) Solve forx =0,y =0

¢) Solveforz =4,y =0

12) Simplify algebraic expression
(102 — 6x) + ((4x + 8y) — 6y) + = =

a) Solveforz =1,y =2

b) Solve for x =0,y = 10

c) Solveforx =0,y =7
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)

Name
ADDITION AND SUBTRACTION WITH BRACKETS II1 m
Time:

Score:

13) Simplify algebraic expression
(by — by + 3y + z +4y) + 3y) =

Solve for z =2,y =1

)
b) Solve for z =5,y =1
¢) Solvefor z=1,y=0

14) Simplify algebraic expression
3y — Oy + ((10z — 3z) + 4 — 9x) =

Solve forx =2,y =1

a)
b) Solve forx =0,y =3

c) Solve forx =4,y =4

15) Simplify algebraic expression
(8 —4dx) —4x) + 22z —x + 10y =

Solve forx =3,y =0

)
b) Solve forx =2,y =1

¢) Solveforz =1,y =0

16) Simplify algebraic expression
(4z+32z—4z2)) + ((x — 02) + 8y) =

a) Solve for z =0,z =38

)
)

b) Solve for z =0, x =6

0
|
1

Yy
Yy
c) Solveforz=0,x=1,y

o
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

ADDITION AND SUBTRACTION WITH BRACKETS IV
Time:

Score:

17) Simplify algebraic expression
54+ (=8)+ Oz +y)+ (=15) + (=2) =

Solve forx =1,y =9

a)
b) Solve for x =3,y =14

¢) Solveforx =3,y =0

18) Simplify algebraic expression
(6 —18) + (=5y) + (T2 — (=9y)) — (—4) =

Solveforz =1,y =1

)
b) Solve forz =1,y =2

¢) Solve forx =0,y =4

19) Simplify algebraic expression
(44 10z — 2z) — (—5y) — 8+ 3y =

a) Solve forz =0,y =2
b) Solve forx =2,y =0

¢) Solveforx =0,y =3

20) Simplify algebraic expression
dy — (=3) + (1 = (=dy)) — (19 = Tz) =

a) Solve forz =0,y =2

b) Solve forx =4, y=0

¢) Solveforx =3,y =0
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

EXPRESSIONS WITH PARENTHESES
Time:

Score:

21) Simplify algebraic expression
(4 —4z) + 0+ ((z + 0z = (10x))) =

Solve for z = 10

a)
b) Solve for x =7

¢) Solve for x =3

22) Simplify algebraic expression
(4r — 3x) + 5x x (0 =8 x 7Tx) =

Solve for x =7

)
b) Solve for x = 3

¢) Solve for x =5

23) Simplify algebraic expression
(Tx x5) —28x — (4o +7) — 2z =

Solve for x = 1

a)
b) Solve for x =0

¢) Solve for z =3

24) Simplify algebraic expression
2z x 8) x (9x — 9z) + (Tx) + (97) =

a) Solve for z =1

b) Solve for z =7

c¢) Solve for x =5
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)
EXPRESSIONS WITH PARENTHESES
Time:

Name:

Score:

25) Simplify algebraic expression

B3z 4+ z) — (0z — Ox) + (4x) +~ (2x) =

Solve for x = 1

)
b) Solve for x = 0
¢) Solve for x = 2

26) Simplify algebraic expression
0z — 0z + (bz)) ~ o X ldo + 7 =

Solve for z = 1

)
b) Solve for x =6

¢) Solve for x = 0

27) Simplify algebraic expression
(0+7)4+ (22 +2 x 0x) — 0x =

Solve for z = 10

)
b) Solve for x =6

¢) Solve for z = 2

28) Simplify algebraic expression
(92 — z) X Ox + ((6x — 6x) + bx) =

a) Solve for z = 10

b) Solve for x =9

¢) Solve for x = 2
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)
EXPRESSIONS WITH PARENTHESES II

Name:

Time: Score:

29) Simplify algebraic expression
(24+32)+7) — (92— Tz)+2) =

Solve for x = 0

a)
b) Solve for x =1

¢) Solve for x = 2

30) Simplify algebraic expression
(6x 4+ 3x) x (10 —4) = 6) ~3 =

Solve for x = 2

)
b) Solve for x = 3

c¢) Solve for x =1

31) Simplify algebraic expression
(15 +5)+6x) — 4o — Tx + 8x =

Solve for x = 1

)
b) Solve for x = 2

¢) Solve for z =0

32) Simplify algebraic expression
(Bx+10—1)=7) — 2x =

a) Solve for z =0

b) Solve for z = 2

¢) Solve for x = 6
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

EXPRESSIONS WITH PARENTHESES III
Time:

Score:

33) Simplify algebraic expression
(5—12) — (=3) + (—2x) — Bz + (—2)) =

Solve for z = 3

a)
b) Solve for x =4

¢) Solve for x = 2

34) Simplify algebraic expression

br +(—1) — (14 = (=7)) + (=5) — (—10x) =

Solve for x = 0

)
b) Solve for x = 1

c¢) Solve for x = 2

35) Simplify algebraic expression
(22 + (—2x)) — (100z = (—10) + 7+ 2x) =

Solve for x = 2

)
b) Solve for x =1

¢) Solve for z =0

36) Simplify algebraic expression
(Tz+ (—27)) — (—4) — 2z + 11+ 0z) =

a) Solve for x =4

b) Solve for z = 2

¢) Solve for z =1
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

EXPRESSIONS WITH PARENTHESES III

Time: Score:

37) Simplify algebraic expression
(3 x 0x) x b6x -9+ 35 x 3z =

Solve for £ = &

a)
b) Solve for x =5

¢) Solve for x =4

38) Simplify algebraic expression
19+ (=92) + (0x X x) + (—6x) + (—6) =

Solve for x = 3

)
b) Solve for x = 1

c¢) Solve for x = 2

39) Simplify algebraic expression
21 x T x (92 + (—10)) x 0z + 10 =

Solve for x = 5

)
b) Solve for x = 10

¢) Solve for z =3

40) Simplify algebraic expression
2z + (—1z)) X (=2) - X (=7) — 4z =

a) Solve for x =4

b) Solve for z =5

¢) Solve for x = 6
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

EXPRESSIONS WITH PARENTHESES IV
Time:

Score:

41) Simplify algebraic expression
10x + 0z X (x 4+ Ty) x 3y x 1 =

Solveforz =1,y =1

a)
b) Solveforx =1,y =7

¢) Solveforz =1,y =10

42) Simplify algebraic expression
Bx x7)—x— (92 —Oy) — 3z =

Solve forx =1,y =3

)
b) Solveforz =1,y =26

¢) Solve forx =1,y =10

43) Simplify algebraic expression
By —y+2x) + 0y x 9y + (12x) =

Solve forx =0,y =1

)
b) Solve forx =0,y =05

¢) Solveforz =0,y =2

44) Simplify algebraic expression
10y + 3y — (Ty — Oy x 9y) — 3y =

a) Solve for y =1

b) Solve for y = 2

¢) Solve for y =3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

EXPRESSIONS WITH PARENTHESES V
Time:

Score:

45) Simplify algebraic expression
(9 X 7) x (92 —92) 4+ 6y — by =

Solve for z =5,y =25

)
b) Solve for z =2, y=7
¢) Solvefor z=4 y="7

46) Simplify algebraic expression
7z — 0z + ((3x 4+ 32)) + ((8y — 6y)) =

Solve for z =1, x

7,y=29
7,y=20

)
b) Solve for z =1, x

c) Solveforz:l,:czé%:yzél

47) Simplify algebraic expression
(0z —0x 4+ 10) — (8x +2) + (2x) =

Solve for z =2, x =0

)
b) Solve for z =1, 2 =1

¢) Solvefor z=10,x =7

48) Simplify algebraic expression
Oz x 1 x (102 +1—32)+2x =

a) Solve for z =10,z =05

b) Solve for z =6, x = 2

¢) Solve for z =0, x =4
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

EXPRESSIONS WITH PARENTHESES VI
Time:

Score:

49) Simplify algebraic expression
(0x x 84+ 0x) x5+ 1+ (6y) =

Solve forx =4,y =9

a)
b) Solveforx =1,y =0

¢) Solve forz =0,y = 10

50) Simplify algebraic expression
(10x x 0z +2)+ 0+ 14 +2 =

Solve for x = 8

a)
b) Solve for x = 4

¢) Solve for x =7

51) Simplify algebraic expression
0+=8x1)=(2ly = (=3))) +=5=

a) Solve fory =7
b) Solve for y =5

¢) Solve for y =4

H2) Simplify algebraic expression

Yy -+ (=9) + (O — (=1y)) + ((10 = 0y))) =

a) Solve for y =0

b) Solve for y = 8

c¢) Solve for y =7
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

EXPRESSIONS WITH PARENTHESES VI
Time:

Score:

H3) Simplify algebraic expression
(9x2)x (0+(=3) = (8x(=8y)) =

Solve for y = 8

a)
b) Solve for y = 3

¢) Solve for y = 10

H4) Simplify algebraic expression
Bz + (—1x)) —4— (0 +4+4x) =

Solve for x = 3

)
b) Solve for x = 1

c¢) Solve for x = 2

55) Simplify algebraic expression
(0x x 0x) =8 =2+ 27y +9 =

a) Solve forz =4, y=3
b) Solve forx =4, y=0

¢) Solveforx =5,y =3

H6) Simplify algebraic expression
T+0+-B+9%2+3+1)) =

a) Solve for x =4

b) Solve for x = 3

¢) Solve for x = 6
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)
CHALLENGE

Name:

Time: Score:

H7) Simplify algebraic expression
(52 +(=2)) = (=2))) + 1+ 0y x ((Tz — Sy + 1)) =

a) Solveforz =2, 0=4 y="7
b) Solvefor z=2, =10,y =6
¢c) Solvefor z=0,x=4,y=>5

H8) Simplify algebraic expression
((2z = (=2) + (—22))) x 0y) -y x (=3) x (10x + (—4z2)) =

a) Solveforz=6,2=4,y=3
b) Solve for z=10,x =7,y =3
¢c) Solvefor z=7,x=5,y=0

59) Simplify algebraic expression
(0y x (—6)) = 10 — (((3z x 5) = 5 — 5y)) — (—32) =

a) Solveforz=6,2z=10,y=1
b) Solvefor z=1,2=0,y=1
¢) Solvefor z=7,x=10,y =1

60) Simplify algebraic expression
(102 + (=32) + (T4 (—10) + 4y)))+(16y + (—2) — (—9y)) =

a) Solve for z =0, y
b) Solve for z =1, y
c¢) Solve for z =0,y

0
|
2
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

CHALLENGE

Time: Score:

61) Simplify algebraic expression
(ly +(=8))+52)+ 18 =5y + (Ty — 92— 1) =

Solve for z =4,y =0

a)
b) Solve for z =8 , y =9

¢) Solve for z =8, y =38

62) Simplify algebraic expression
((y x (=7) — (15 —=174+7)+ (848 —13)) =

Solve for y = 0

a)
b) Solve for y =1

¢) Solve for y = 2

63) Simplify algebraic expression
(((0+ 0z +4) + (=6y)) + (—1y)) x (((6z = 3) +7z)) =

Solve for z =8 . x =2,y =4

a)
b) Solvefor z=7,2=0,y =3

¢c) Solvefor z=4 ,x=5,y=4

64) Simplify algebraic expression
8+x)—(7T4+9)+ (((2z+ (—102) +82)) + 1) =

a) Solve for z =4,z =0

)

b) Solve for z =0, x =8

c) Solve for z =4 ,x =38

)
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

TEST 1
Time:

Score:

1) Simplify algebraic expression
9y — 8y + (hr + 4x — 4o + 8x) =

Solve for x =0, y =10

a)
b) Solve forx =0,y =0

¢) Solveforx=1,y=0
)

Simplify algebraic expression
(10 = 9y) — 6y — 14 +6 — (—8) =

Solve for y =1

)
b) Solve for y = 0

¢) Solve for y = 2
)

Simplify algebraic expression
(54 (—4x) + (=2)) — (Ty + (=9) — 2z) =

a) Solveforz =9, y==6
b) Solve forx =3,y =05

¢) Solveforz =0,y =2
)

Simplify algebraic expression

(((2x x (—=8)) x 0)) x 6x + (—1x) — (1 —20z) =

a) Solve for z =0,z =38

b) Solve for z=0,x =7

c) Solve for z =0, x =2

)
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

TEST 2
Time:

Score:

1) Simplify algebraic expression
3y — 0z) + 4o + (Ty — Ox + 3y) =

Solve forx =2,y =10

a)
b) Solve forx =0,y =0

¢) Solveforx=1,y=1
)

Simplify algebraic expression
(0y — (=82)) + (=6) + (Oy + (=52)) — 2 =

Solve forx =6,y =9

a)
b) Solve forz =4,y =5

c) Solveforx =1,y =2
)

Simplify algebraic expression
(1x9y)x1+(2+(-2)—2) =

a) Solve for y =3
b) Solve for y = 0

¢) Solve for y =1
)

Simplify algebraic expression

((4+2)—1)+40z =8 — 10y + (—10) +6) =

a) Solve forz =8, y=14

b) Solve forz =0,y =0

¢) Solve forx =6,y =3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1) Name:

TEST 3
Time:

Score:

1) Simplify algebraic expression
(92 — 0y + = 4+ 9x)) — (10x — Ox) =

Solve forx =0, y = 2

a)
b) Solve forx =0,y =3

¢) Solve forx =2,y =4
)

Simplify algebraic expression
B+8)+(—=5H)+(—1lx)+0—-11 =

Solve for = &

)
b) Solve for x = 4

¢) Solve for x = 10
)

Simplify algebraic expression
(44 (—4)) =10+ (Y + (=Ty))) — 2z =

a) Solve for x =3,y =10
b) Solve forx =3,y =1

¢) Solveforx =3,y =26
)

Simplify algebraic expression

(((63+(—9) —(=9))+2z —y+4x0+38)

a) Solvefor z=3,y=3

b) Solve for z =3,y =10

c) Solve for z =3,y =06
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)

SOLUTIONS
1 2 3 4
10x 2z 6z 4z
a) 10 a) 8 a) 6 a) 20
b) 20 b) 6 b) 12 b) 0
c)0 c) 4 c) 18 c) 16
5 6 7 8
4z +5 4z + 4 5x + 6 9r +2
a) 13 a) 20 a) 16 a) 2
b) 9 b) 4 b) 6 b) 11
¢) 17 c) 12 ¢) 11 c) 20
9 10 11 12
o5z + 14y 5z 4+ 9y 3z + 6y 9z + 2y
a) 14 a) 10 a) 18 a) 13
b) 19 b) 20 b) 0 b) 20
c) 15 c)9 c) 12 c) 14
13 14 15 16
10y + = 2z 4 3y z + 10y T+ 8y + 3z
a) 12 a) 7 a) 3 a) 8
b) 15 b) 9 b) 12 b) 14
c)1 c) 20 c)1 c)9
17 18 19 20
9z +y — 20 Tr 44y — 8 8r + 8y —4 Tr+ 9y — 15
a) -2 a) 3 a) 12 a) 3
b) 11 b) 7 b) 12 b) 13
c) 7 c) 8 c) 20 c)6
21 22 23 24
0 T 3z 0
a) 0 a) 7 a) 3 a) 0
b) 0 b) 3 b) 0 b) 0
c)0 c)b c)9 c)0
25 26 27 28
4z 0 0 0
a) 4 a) 0 a) 0 a) 0
b) 0 b) 0 b) 0 b) 0
c)8 c)0 c) 0 c)0
29 30 31 32
z+7 3z 3z +3 T+ 2
a) 7 a) 6 a) 6 a) 2
b) 8 b) 9 b) 9 b) 4
c)9 c) 3 c)3 c) 8
33 34 35 36
2z — 4 5T — 3 8 —7 3z -7
a) 2 a) - a) 9 a) 5
b) 4 b) 2 b) 1 b) -1
c) 9.45457e-125 c) 7 c) -7 c) -4
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)

SOLUTIONS
37 38 39 40
0 =9z + 19 0 —4x + 14
a) 0 a) -8 a) 0 a) -2
b) 0 b) 10 b) 0 b) -6
c)0 c)1 c)0 c) -10
41 42 43 44
10z 8z 2z + 2y 3y
a) 10 a) 8 a) 2 a) 3
b) 10 b) 8 b) 10 b) 6
c) 10 c) 8 c)4 c)9
45 46 47 48
Y Tz 8 2x
a) b a) 7 a) 8 a) 10
b) 7 b) 7 b) 8 b) 4
c) 7 c) 7 c) 8 c) 8
49 50 51 52
0 0 0 -1
a) 0 a) 0 a) 0 a) -1
b) 0 b) 0 b) 0 b) -1
c)0 c)0 c)0 c) -1
53 54 55 56
0 —2zx -4 3y — 10 7
a) 0 a) -10 a) -1 a) 7
b) 0 b) -6 b) -10 b) 7
c)0 c) -8 c) -1 c) 7
57 58 59 60
5z 0 —3z 4 5y + 3z oy + 72z —3
a) 10 a) 0 a) -7 a) -3
b) 10 b) 0 b) 8 b) 9
c)0 c)0 c) -4 c) 7
61 62 63 64
3y—4z+9 —Ty+8 0 r—8
a) -7 a) 8 a) 0 a) -8
b) 4 b) 1 b) 0 b) 1.89091¢-124
c) 1 c) -6 c) 0 ¢) 1.89091e-124
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)
SOLUTIONS: TEST 1

1 2 3 4
13z +y —15y + 10 4o — Ty + 14 —x+20z—1
a) 10 a) -5 a) 8 a) -9
b) 0 b) 10 b) -9 b) -8
c) 13 c) -20 c) 1.89091e-124 c) -3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)

SOLUTIONS: TEST 2

4z + 13y
a) 8

b) 0

c) 17

cTey
—_
%Ol

¢
ot

—3y
a) -9
b) 0
c) -3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-1)
SOLUTIONS: TEST 3

1 2 3
9z —x—3 —2x 2z +2
a) 0 a) -11 a) -6 a) 8
b) 0 b) -7 b) -6 b) 8
c) 18 c) -13 c) -6 c) 8
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